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WE | BE | BFE | BE | hF | BE | BF | BE | 8F | BE
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067 0.67 | 2.86 | 2.84 | 4.01 | 3.98 | 4.45 | 4.41 | 5.58 | 5.53
0.67]0.67]2.86|2.84|4.01|3.99|4.45|4.42|5.58|5.54
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= B kW 13A 12A LPG e 6A L1 (6B, 6C) 5C, L1 (70)

& R BF | R | WF | RF | AT | BF | 95 | BF | % | R | %E | BE | A% | B | 0E | BE | 0% | B
2 7

L2 (5A, 5B) L3 (4A, 4B, 4C)

J187 18.2)23.7(11.81|1.801.99 1.9810.83]0.83(0.67|0.67 2.8412.8313.9813.97 4.42 ] 4.40 1 5.54 | 5.52
J186 18.1123.711.811.80|1.99|1.98|0.83|0.83|0.670.67 | 2.84|2.83|3.98|3.974.41|4.40|5.54]|5.52
J185 18.1123.6(1.81|1.80 1 1.99|1.9810.83|0.83]0.67|0.67 | 2.84|2.83(3.98(3.97|4.41|4.40|5.53|5.52

 J181 [18.023.6|1.80 | 1.80 | 1.98 | 1.98 | 0.83 | 0.83 | 0.67 | 0.67 | 2.83 | 2.83 | 3.96 | 3.96 | 4.40 | 4.39 | 5.51 | 5.51
J180 18.0123.611.80 | 1.80 | 1.98 | 1.98 | 0.83 | 0.83 | 0.67 | 0.67 | 2.83 | 2.83 | 3.96 | 3.96 | 4.39 | 4.39 | 5.51 | 5.51

. . . . .6 3.67 | 4.07 .
J166 16.6 | 21.8 | 1.66 | 1.66 | 1.82 | 1.83 | 0.76 | 0.76 | 0.61 | 0.61 | 2.60 | 2.61 | 3.64 | 3.65 | 4.04 | 4.05 | 5.07 | 5.08
J165 16.5121.6 | 1.65/1.65|1.81|1.82|0.76|0.76 | 0.61 | 0.61 | 2.58 | 2.59 | 3.62 | 3.63 | 4.02 | 4.03 | 5.04 | 5.05

_Ju2 142|186 [ 141|142 155 | 1.56 | 0.65 | 0.65 | 0.52 | 0.53 | 2.21 | 2.25 | 3.10 | 3.12 | 3.44 | 3.46 | 4.31 | 4 55
J140 [14.0|18.4]1.391.40 | 1.53 | 1.54 | 0.64 | 0.64 | 0.51 | 0.52 | 2.18 | 2.20 | 3.06 | 3.08 | 3.39 | 3.42 | 4.25 | 4.28
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